SUBJECT: ARITHMETIC

ANSWER KEY

Q1) Skip count by 5 (5-100)

T| O H | T 0

5 5 | 5
1 0 6 0
1 5) 6 5
2 0 7 0
2 |5 7| 5
3|0 8 | 0
3 5 8 5
4 0 9 0
4 5 9 5
5 0 1 0 0
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Q2) Fill in the missing numbers counting by 5

1)

5 (10| 15| 20| 25| 30 | 35 | 40
20| 25 | 30| 35| 40| 45| 50 | 55
45| 50| 55 |60 | 65|70 | 75 | 80
30 |35 |40 | 45| 90| 55 | 60 | 65
25 130 |35 | 40| 45|50 | 55 | 60
30 |35 (40 | 45 | 50| 55 | 60 | 65
10 |15 | 20| 25| 30 | 35 | 40 | 45
50 | 55|60 | 65|70 | 75 | 80 | 85




Q3) Count by 5 and trace the numbers
o [10|1D]| 20
25130139 40
45150959 60
657017580
8990|951 00

Q4) Count by 5 and write the missing numbers

5 10| 15| 20
20( 30|35 40
45 1501 55| 60
65| 70| 75| 80
85 |90 95 100






